
�����������	
�	���
����

��������	
����

�����
���	����	����
�
�
�

����
������

������
�


����	
���

���
�����������
��	
�
���

�

����������
�����	������

���

���
���
����� 

����� �
�����������

���	������� !∀  �#!∀#∀�∃%����
��
�&

����������
��

�

�

�

��
�

�

�

�

�

���
��	������� ∋�()  � �∀�∗�(�!�∀+

�
�	������� ����++  ��

����������� ,	��
��
���������
������

�
�������	 ������ −.�.�/�∃)�0∋&�#��� �/�∃
	��������&�∗�−.�∀�/

!�
�
���	 ������ 1��
����∀�/���

∀������	#���� ���
���
�����.

��
����	���	∃���
���� 2
��
���%�
3 �
���4
���
�����������4
�������4
5������
�	����
�������	���
�����

����
����
��
���%�
�

)%������3 �����
��
6
������
�	�4���
���
5������
�	����
�����������������������

������	
�
�

0�4	�3 ����

������������4��%���4	��

∋�%����3 �����
��
��
�

��������������
�����
���	�%���	����
��	
����
������

7
��������������� �8∀

                                                l  ����������	
���
����	
�����
�
�	����������
�	
�����	�
�����	��������	��������
																					l  ��
���	
�����
�
																	l		���	����
���	
�
��
��					  

��������

�	
��
���������������

������������������������������ ���!��

�����������∀#∃∀��%�&�∋������(

���))����

�	
��
���������������


!�∗�+�����,����!∗�� ���!����−�������.�

�/�
!�∗�+�����,�����&�!�0−���∀#1#��%�&�∋������(

������2��∃�∃�∀�/�#∀�#

.�������2��∃�∃�∀�/�#∀�1

��+�34��(∗�(�5

&&&(4��(∗�(�5



���������	���
�����


�
�
��������������

���������	�
�	����
��	
��	����������	���
	�
�	��������	���������	
��	��	
�����	���
	�����
����	�
���	
�
��
����	

��������	�
��������	����
��	
�	�
�	����	��	������
����	
��	
������	����
���	���
	�

�	�����	��	��������	���	

���
������	�
����
��	�����
����	���
�	������
�����	

������
�	���������	
	��
��	
�����	��	�
��������	� �!	∀	���#	��	���������	

�����������	��	��������
��	����������	
��	�������	��	�
�	���������	

�	��
�����������������

���������	�
�	����
��	
��	����������	���
	�
�	��������	���������	
��	��	
�����	���
	�����
����	�
���	
�
��
����	����	

��	�
�	��
∃�	
��	������
���	�����
����	�

�	�
�	�������	��	
	�������	��	���	��
�������������	�
��
	��	��������	
��	��	


	�����%�����	��	�
�	����
����	�����	����	��	�����
��	�
�	��������	

��������	�
��������	����
��	
�	�
�	����	��	������
����	

��	����
����	��	��
��	����������	����
���	���
	�

�	�����	

��	��������	���	���
������	�
����
��	�����
����	���
�	������
�����	

��������
����
���	������������� ��!∀

&����	���	∋ (�)(∗+�	,)∋−!∋.!/0	123−43	��%�����	���	∋ (�)()5�	6
�	����
����	��	!�∗	���	��	���
��	����
���	


�������	������	���	�
�	���
����
����	��	��������	��	−�2��	7�	����
�	���	� 	�
����
�	�
�	����	����������	�����	


����	 �0	∀#�

�
#�

6��	�����
�����	��
∃�	
��	��������	����
�	������
����	8	5(�(	
��
	∀#�	7����	��	�
�	
������	��	���������	�
����
��	

���	����
����	�
����
����	�������	��	��	
������	�

�	
��	��
∃�	

��	�
�	�
��	��������	���������	9
���	���������	�
�	

����������	��	
�
�����	������	
	�

��
�����
�	��	�����
����	���
���	��	

��	����	
�
����	����	�
���

 ������	��∃�	�����

&����� ,	+ �:∗�	−	(�∗(�	.	∗�∋5	∀

,)∋−!!.!/0 ��%������ ,	+ �+!�	−	(�∗:�	.	∗�∋(	∀

6
�	�������
�	
�
�����	�
��	���
��	�����
���	
�������	������	���	���
����
���	�
�	�������
�	������
	������	6
�	

�������	�
�	
���	��	�
∃��	��	�����	�
�	
������	��	��������
��	%�
�������	��	�
���	��	�����
���	�
���	��
��
	

��	���	

����	�����
���	������	���	���
���	��	�
����	��;�	�����
�����#�

6
�	
�
��
���	%�
�����	��	������<����
������	�
����
�	��	
��
��	��
���	
��	�
��	������	�
�	������	
��	����	��	
�
�����
�	�
�
	

�
��
	�
�	��	���
�����	6
��	,�������
��	��	���������	��	�����������	����
�	���	���	��	
�
�����
�	�
������	�
�	
��	��
����	��	�
�	

���	��	������<����
������	�
����
���	,�����	�
����
��	�����	����
��	
��
��	������	��	������
�	��������	
��=��	�
����	
��	��	

����	���	��	���	�
�	���������	������	�
���	������	�
�
��	�

�	�
�	�
�	−>�,	�������	6
��	��������	��	��������	���	���	
�	
�	


�
�����
�	���������	�
����
�	
��	��	��	���	���	
��
�	
��������
�����	����������	
��	�
���	���
	���
����	�������
�������	������	

��
������	����������

6
�	��<����	�
��	��	
�������	����	����������	�
����	���
	�
�	�
����
�	��	�
�	�
���
����	
��=��	��	����
���	��	��	���	��������	��	

�������	����
�	����
��	�������	���
���	��	�
�	��
��	
�����	��	�
����
�	
�
��
����

)=0



0.50.51.01.01.51.52.02.02.52.53.03.03.53.54.04.04.54.55.05.05.55.56.06.06.56.57.07.07.57.58.08.08.58.59.09.09.59.510.010.0

 

Chloroform 

0.3 % w/w 

4xCH+OH 

4.82 H 

2xCH 

2.00 H 

6xCH2+5xCH 

17.0 H 

HOD 

NMR 

Solvent 

2xCH3 

6.0 H 

CH3 
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